

**Employer Satisfaction Survey (n=4)
2020**

Question	Excellent (4)	Good (3)	Fair (2)	Poor (1)
1. Displays knowledge of academic content to include appropriate state and national standards demonstrated through planning and lessons	1/25.00%	3/75.00%	0/0%	0/0%
2. Incorporates variety of technologies to promote problem solving and collaboration	1/25.00%	3/75.00%	0/0%	0/0%
3. Establishes a learning culture where all students can be successful	1/25.00%	3/75.00%	0/0%	0/0%
4. Creates instructional opportunities adapted to the needs of diverse learners	1/25.00%	3/75.00%	0/0%	0/0%
5. Uses a variety of instructional strategies to promote a positive learning environment	1/25.00%	3/75.00%	0/0%	0/0%
6. Uses a variety of assessment strategies, both formal and informal.	1/25.00%	3/75.00%	0/0%	0/0%
7. Critically examines practice through cycle of reflection and self-renewal	1/25.00%	3/75.00%	0/0%	0/0%
8. Demonstrates desire to promote school mission and foster relationships with parents and outside agencies	1/25.00%	3/75.00%	0/0%	0/0%

**Employer Satisfaction Survey (n=4)
2018**

Question	Excellent (4)	Good (3)	Fair (2)	Poor (1)
1. Displays knowledge of academic content to include appropriate state and national standards demonstrated through planning and lessons	2/50.00%	2/50.00%	0/0%	0/0%
2. Incorporates variety of technologies to promote problem solving and collaboration	2/50.00%	2/50.00%	0/0%	0/0%
3. Establishes a learning culture where all students can be successful	2/50.00%	2/50.00%	0/0%	0/0%
4. Creates instructional opportunities adapted to the needs of diverse learners	2/50.00%	2/50.00%	0/0%	0/0%
5. Uses a variety of instructional strategies to promote a positive learning environment	2/50.00%	2/50.00%	0/0%	0/0%
6. Uses a variety of assessment strategies, both formal and informal.	1/25.00%	3/75.00%	0/0%	0/0%
7. Critically examines practice through cycle of reflection and self-renewal	2/50.00%	2/50.00%	0/0%	0/0%
8. Demonstrates desire to promote school mission and foster relationships with parents and outside agencies	2/50.00%	2/50.00%	0/0%	0/0%

**Employer Satisfaction Survey (n=6)
2016**

Question	Excellent (4)	Good (3)	Fair (2)	Poor (1)
1. Displays knowledge of academic content to include appropriate state and national standards demonstrated through planning and lessons	4/66.67%	2/33.33%	0/0%	0/0%
2. Incorporates variety of technologies to promote problem solving and collaboration	4/66.67%	2/33.33%	0/0%	0/0%
3. Establishes a learning culture where all students can be successful	4/66.67%	2/33.33%	0/0%	0/0%
4. Creates instructional opportunities adapted to the needs of diverse learners	3/50%	3/50%	0/0%	0/0%
5. Uses a variety of instructional strategies to promote a positive learning environment	5/83.33%	1/16.67%	0/0%	0/0%
6. Uses a variety of assessment strategies, both formal and informal.	3/50%	3/33.33%	1/16.67%	0/0%
7. Critically examines practice through cycle of reflection and self-renewal	4/66.67%	2/33.33%	0/0%	0/0%
8. Demonstrates desire to promote school mission and foster relationships with parents and outside agencies	5/83.33%	1/16.67%	0/0%	0/0%

**Employer Satisfaction Survey (n=4)
2014**

Question	Excellent (4)	Good (3)	Fair (2)	Poor (1)
1. Displays knowledge of academic content to include appropriate state and national standards demonstrated through planning and lessons	4/100%	0/0%	0/0%	0/0%
2. Incorporates variety of technologies to promote problem solving and collaboration	2/50%	2/50%	0/0%	0/0%
3. Establishes a learning culture where all students can be successful	3/75%	1/25%	0/0%	0/0%
4. Creates instructional opportunities adapted to the needs of diverse learners	2/50%	2/50%	0/0%	0/0%
5. Uses a variety of instructional strategies to promote a positive learning environment	4/100%	0/0%	0/0%	0/0%
6. Uses a variety of assessment strategies, both formal and informal.	0/0%	4/100%	0/0%	0/0%
7. Critically examines practice through cycle of reflection and self-renewal	0/0%	4/100%	0/0%	0/0%
8. Demonstrates desire to promote school mission and foster relationships with parents and outside agencies	2/50%	2/50%	0/0%	0/0%